3/16 ALU MILL
CHAIN HANGER BACKING PLATE

[NUT - NYLON LOCK - 3/8-16

[WASHER - LOCK - 3/8

[WASHER - FLAT - 3/8

#P0043
CHANGE HANGER
| WASHER - FLAT - 3/8
|BOLT - HEX HEAD - 3/8-16 X 1.25
1.31
Je) U UULeU s
L‘ 3.50 V’l
20.25
(€ J [PART NO. REV.
i L, | @ T TR146SP D
y A r Y ]
UNLESS OTHERWISE SPECIFIED,
DIMENSIONS ARE IN INCHES @ Mavuvracroring ) _Cégnil’&/?blz CHAIN HANGER W/NO LID AND 9 HOLES FOR 1/2IN CHAIN
x>><<;(< : ign 5 ANGULAR=:1° DRAWN BY SHAWN CROCKER 0771472021
XXXX = £.005 TRACTIONAL=#1/8 70 N GED BY SHAWN CROCKER 04032023 |— s —
THIRD ANGLE PROJECTION | MATERIAL A D7898 B
@G ALUMINUM T S s

2

1



